error(" Attempt to RPLACD NIL")

X= n’ --Gurrentstacl
CurrentStackPTR-- OP rpIaCd( )
'Il'opOfStack -
NIL_PTR | return(NIL_PTR) |
X==
NIL_PTR
i error( "ARG not List ") |
Listp (x)
==NIL
X_68k = Addr68k_from_LADDR(x) rp_page =
X_68k->car_field
I
] CDRIEEN
clookup(DELREF , cdr (x) ) temp=
Seiookub(ADDREF. TopOfStack) A?ci;)GE:)l;_g;‘;or_LADDR
_ CASE 1)

cdr_cell = POINTER_PAGEBASE(rp_page) +
cdr_code = (temp->cdr_code << 1)
X_68k->cdr_code

cdr_cell68k =
Addr68k_from_LADDR(cdr_cell)

*(int *)cdr_cell68k = TopOfStack

CASE 2)
cdr_code
" CDR_INDIRE cdr_cell = POINTER_PAGEBASE(x) +
- (cdr_code << 1)
odr_code cdr_celloek =
CDR_MAXINDIRECT Addr68k_from_LADDR(cdr_cell)
Tt ")cdr_ce = TopOrStac CASE 3)
x_68k->cdr_code = CDR_NIL |
CASE 4)
TopOfStdck x_68k->cdr_code =
- CDR_ONPAGE +((TopOfStack &0xff)>> 1)
IL_PTR \ | (p_page=

POINTER_PAGEBASE(x))

== cons68k=

POINTER_PAGEBASE Addr68k_from_LPAGE(rp_page) CASE 5)

(TopOfStack)
cdr_cell68k=
GetNewCell_68k(cons68k)
cons68k->count--

cons68k->count cons68k->next_cell=
>0 cdr_cell68k->cdr_codr

unsngneiﬂ tjcar_cen= opU Stack |

X_68k->cdr_code
=(LADDR_from_68k(cdr_cell)
>>1)

cons68k = next_conspage()

car_ce =GetNewCell_bBK(cons!
cons_68k->next_cell=cdr_cell68k->cdr_code

CASE 6) emp =GetNewCell_| consl

cons68k->next_cell=temp68k->cdr_code

TopOfStack = x e eRsomT=2 )

*(int *)cdr_cellegk = TopOfStack |

iempBBR->car7 leld = X_bok->car_field

TT)X_GBK= from_| emp

temp_68k->cdr_code =
(LADDR_from_68k(cdr_cell68k) & 0xff)>>1

[TX_BBK->Ccar_code=CDR_INDIREC |




